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On the same picture, draw the 
trajectories for the following 
particles:

Assume they all start near the same point 
with the same initial velocity 

( Ignore attraction / repulsion between the particles )
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Why would it be hard to draw an 
electron’s trajectory on the same 
graph as part a) ? 

Assume it has the same initial 
velocity       as the particles in a).  
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Now we double the strength 
of the magnetic field. Draw 
the new trajectory.
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Electric current is sent in through the left side of the 
loop and returns through the right side. There is a 
magnetic field pointing in the       direction. 

Draw the force vectors acting on segments A 
through E.

Draw the axis about which the loop will rotate. Will 
it rotate clockwise or counter-clockwise?
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